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L. 21 mwn: salting the altar-ramp and using a “waterwheel”
a. w1 the ramp may be salted to prevent sliding;
i. Challenge: 7:7 naw ®naon — if a courtyard gets ruined by rain, he may strew straw so people don’t fall
1.Answer: he isn’t giving up on it (or leaving it there permanently) - not like 112
ii. Question: is he leaving the salt there? If so, he violates exact structure of w1pn (v. 1)
1.And if: he isn’t leaving there (>still 219n), then it is a n¥¥n between feet of 0’113 and the wa>
2. Answer: they are “only” walking p>1aR up to nam
3.Block: v. 2 indicates that that is also considered an nmay
a) Answer: referent is carrying wood up to nam, which is not itself an nmay
iii. ~27(in re straw in 731, after corrected by 977): straw must be strewn in an unusual fashion
b. 7x2 waterwheel may be used to fill pail — only in wTpn; 9pn M2 may be used on v"»
i. 977 12 a particular spring that was allowed based on ancient tradition (v. 3)
II. Analysis of 2nd clause - filling from “water-wheel” (concern re: 91p nynwn)
a.Story: with X5 involving man knocking on door — 85 thought it should be MR as %1p nynwn
i. /727(to 51): only prohibition of 1 nynwn is musical sounds
1.Challenge (»an): 1:2 naw Rnavn — using “shakers” to wake up the sick (only — otherwise, 77oR)
a) Correction: they are used to lull them to sleep (akin to music)
2.Challenges: prohibitions against clapping/slapping/dancing when guarding against fruit
a) And: prohibition of playing with nuts (akin to marbles); or using water-wheel
b) Answers: all due to other concerns (not %1p nynwn) — NRXN, MM MWYR (::apples), M%) NRPYN
i. Note: 1R allowed using water-wheel in his garden-less town
1.But: subsequently forbade when he saw that they were using the water to soak cotton
IIL.yo mwn: egressing a y7v from the wTpn on nNaw
a.Method to be used: dispute as to whether we should do so as soon as possible or with minimal added nxmv
i. 7Apriz j2 poy 1 get it out immediately, even using a belt (which becomes xnv)
ii. /M ’1 use a wood slab (may take more time) — as pp 3 »0199, no increase of NrkNY
b. From which location: in wIpn-precincts do we allow nR¥1n to prevent nkmv
i. D173 pyww T areas of Ny restricted to 0’nd (anywhere from nam west)
1.He holds: bringing a y7w into wTpn is Mva (based on v. 4)
ii. p”r any spot that generates n72 21vn for NRMY (entire NI1Y)
1.He holds: bringing a y7w into wTpn is 27n (both of them interpreting v. 5)
iii. Anywhere else: cover it with a v %3
c. w”1 any laxity re: maw is “yours anyways”
i. Referent: 15 extra mnR given to mnn and to allowance to tie an instrument string into a bow
IV. Tangential discussion re: preferences of non-ideal entry (to repair sections of vTpn)
a. N2 HYRIY ,0MY 0N — as long as they are 1NV
b. &s72 ’1. preference for m1n3, even if DN *HY21 RNV
i. ’pvov op Sya: dispute of WRMNR (D"P1 is just NTIAYH YI109; RNV may do Nax NTY)

PPy Noon 1oy 17
oYy 8Mab naw oSwn on
WMAR PIRYIPPIR 71 Panbn pen
TAMN2 VPOM M P 17TA3 wIpRT A M

www.dafyomivicc.org 88 © Yitzchak Etshalom 2013




